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	Comments


Apologizing ahead of time for not being able to fully comprehend the settlement components of this NPRR we submit the following questions (which are underlined):
In gray box in Section 6.6.3.1”Real-Time Energy Imbalance Payment or Charge at a Resource Node” the calculation of RESESMEB q, p:
RESESMEB q, p  is defined as: Energy Storage Site Real-Time Energy Total—The share of the net sum for all Settlement Meters associated with a generation site where ESRs are located for the QSE q at Settlement Point p.  
RESESMEB q, p  is calculated per QSE per settlement point. 

It is calculated as follows

RESESMEB q, p
= [image: image1.wmf]r
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 (GSPLITPER q, r, gsc, p * MEBVG gsc,b + [image: image2.wmf]r
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MEBVSL q,r,b)
GSPLITPER is calculated by taking the Supervisory Control and Data Acquisition (SCADA) values (GSSPLITSCA) for a particular Generation Resource r that is part of a net metering configuration and dividing by the sum of all SCADA values for all Resources that are included in the net metering configuration for each interval.  Where for a Combined Cycle Train, the Resource r is the Combined Cycle Train.)

GSPLITPER takes total resource output per 15 minute interval and breaks it up and assigns to resources behind the meter. (Correct?)  This creates a value between zero and one?
MEBVG is Metered Energy for a Virtual Generator at bus(The metered energy by the Settlement Meter me for the 15-minute Settlement Interval for a Generating Resource associated with a generation site where an ESR is located.
MEBVG is energy that is injected to the grid over a 15 minute period for a generation site code at a bus? (Correct?)
MEBVSL is Virtual Storage Load at bus(The metered energy by the Settlement Meter me for the 15-minute Settlement Interval for the WSL (negative) associated with an ESR located at a generation site

MEBVSL is the energy that is consumed over a 15 minute period for a generation site code at a bus? (Correct?)
How does ERCOT plan to ensure that the bus is the same for both components?  In particular, we seek help to understand the mechanics of this for each SCED interval (comprising a 15 minute Settlement Interval) when, as in the definition for the Energy Storage Resource (“ESR”) the ESR would be “simultaneously withdrawing energy from the ERCOT System and injecting energy into the ERCOT System.”  How are the values of energy/injection for each SCED interval determined? Is there an injection value and a withdrawal value for each SCED period that is netted for the SCED period?
The equation for RESESMEB q, p seems to calculate a value for a 15 minute period. Where are the 5 minute interval calculations that roll up to the 15 minute value?

WSLAMTTOT q, r, p
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 (RTRMPRES b * MEBVSL q, r, b)
 RTRMPRES b 
= [image: image4.png]


(RNWFVSL b, y * RTLMP b, y)
RTRMPRES is Real-Time Price for the Energy Metered as Wholesale Storage Load located at Energy Storage site Resource meter at bus(The Real-Time price for the Settlement Meter at Electrical Bus d when the output for the ESR is WSL, for the 15-minute Settlement Interval.
So the Real time Price for Energy that is used to charge the storage is based on the LMP for each SCED interval at the bus where it is charging because it is based on RTLMP b, y (which is the RT LMP at the bus for a SCED interval y)?
RNWFVSL b, y 
= [Max (0.001, TL b, y)) * TLMP y] / 
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Max (0.001, TL b, y)) * TLMP y]
RNWFVSL b, y  is Net meter Weighting Factor per interval for the Energy Metered as Wholesale Storage Load The weight factor used in net meter price calculation for meters in Electrical Bus b, for the SCED interval y, for the WSL (negative) associated with an ESR.  The weighting factor used in the net meter price calculation shall not be recalculated after the fact due to revisions in the association of Resources to Settlement Meters.
TL b, y  is Telemetered Energy Storage Load at bus per interval(The telemetered Load at energy storage Electrical Bus b, for the SCED interval y.

RNWF b, y  is the Net meter Weighting Factor per intervalThe weight factor used in net meter price calculation for meters in Electrical Bus b, for the SCED interval y.  The weighting factor used in the net meter price calculation shall not be recalculated after the fact due to revisions in the association of Resources to Settlement Meters.
How is the retail load separated from the Wholesale Storage Load?

How is the RNWF established? Can it change and how often does it change and on what basis?

For 10.3.2.3 “Generation Netting for ERCOT-Polled Settlement Meters” Section 2(b), how will the settlement equations above work when there are different buses involved? It would seem that load and generation that is not in a commons switchyard would have two buses involved. Will there be more than two buses involved?
Why in 11.1.6 “ERCOT Polled Settlement Meter Netting” Section 3(b) was the decision made not to net ESR generation and ESR load?

Is it possible to clarify 11.1.6 “ERCOT Polled Settlement Meter Netting” Section 3(c): “Remaining non-ESR generation output and ESR generation output is netted with associated Load.”  What does this mean?
	Revised Proposed Protocol Language


None at this tme.
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